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QUESTION 1

The SCOTT/TIGER user exists in two databases, BOSTON_DB and DALLAS_ DB, in two different
locations.

Each database has a thsnames.ora file defining DALLAS_DB as a service name.

Examine this command:

CREATE DATABASE LINK dblinkl CONNECT TO scott IDENTIFIED
BY tiger USING ‘dallas db’;

How do you execute the command so that only SCOTT in BOSTON_DB can access the SCOTT schema in
DALLAS_DB?

A. as SCOTT in BOSTON_DB

B. as SYS in both the databases

C.as SCOTT in BOSTON_DB and SYS in DALLAS_DB
D. as SCOTT in both the databases

E. as SCOTT in DALLAS_DB

Correct Answer: D

QUESTION 2
DATADIR1 and DATADIR? are database directory objects.

Examine this command: Which two are true about the expdp operation? (Choose two.)

[oracle@host0l ~] expdp system/oracle \

FULL=y \

DUMPFILE=datadirl:full%U.dmp, datadir2: full2%U.dmp \
FILESIZE=2G \

PARALILEL=4 \

LOGFILE=datadirl:/expfull.log

JOB NAME=exzpfull

LA " A A A

A. It creates a dump file for the entire database.
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B. It fails if the total size of the dump file is more than 2 GB.

C. It creates a dump file only for objects in the SYSTEM schema.
D. It creates a master table to store details of the export operation.
E. It starts only when four worker processes are available.

Correct Answer: AE

Reference:
https://docs.oracle.com/database/121/SUTIL/GUID-1E134053-692A-4386-BB77153CB4A6071A. htm#SUTIL887

QUESTION 3

As the DBA, you execute this command:

GRANT SELECT ON hr.emp TO brown WITH GRANT OPTION;

BROWN then executes this command:
GRANT SELECT ON l’]_'c.emp T scott WITH GRANT QOPTION;

GRANT SELECT ON hr.emp TO scott WITH GRANT OPTION;

Which is true?

A. You can revoke only WITH GRANT OPTION from BROWN.

B. BROWN can revoke only WITH GRANT OPTION from SCOTT.

C. When you revoke the SELECT privilege from BROWN, it is automatically revoked from SCOTT.

D. When you revoke the SELECT privilege from BROWN, nothing is revoked from SCOTT.

E. When you revoke the SELECT privilege from BROWN, only the WITH GRANT OPTION is revoked from SCOTT.

Correct Answer: B

QUESTION 4

In your database, you want to create a tablespace of non-standard block size by using this command:

CREATE TABLESPACE ns tbs
DATAFILE ‘/uOloracle/data/nstbs f0l.dbf’ SIZE 100M
BLOCKSIZE 16K;
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Which is a requirement for this command to succeed?

A. All other DB_nK_CACHE_SIZE parameters should be set to zero.

B. The DB_16K_CACHE_SIZE parameter should be set to a value that can be accommodated in the available SGA.
C. The value of the DB_CACHE_SIZE parameter should not be 16 KB.

D. The DB_16K_CACHE_SIZE parameter should be set to a value less than that of DB_CACHE_SIZE.

E. The DB_BLOCK_SIZE parameter must be set to a value greater than 16 KB.

Correct Answer: B

QUESTION 5

Which two tasks can you perform by using DBCA for a new database?
A. Register it with an available Enterprise Manager Management server.
B. Configure a nonstandard block size.

C. Configure incremental backups.

D. Enable flashback.

E. Create user tablespaces.

Correct Answer: AE
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